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1 288.0 | 0.0 0.0 |288.0 0 E 402 367 0 500 25
2 289.0 | 0.0 0.0 |289.0 0 E 6 9 0 500 25
3 * — — — — — — — — 500 25
4 276.8 | 0.0 0.0 | 276.8 0 E <5 <5 0 500 25
5 = 287.7 | 0.0 0.0 |287.7 0 E <5 <5 0 500 25
6 g | 279.2 | 0.0 0.0 |279.2 0 E <5 5 0 500 25
7 % 3034 | 0.0 0.0 |303.4 0 E3 228 >1002 0 500 25
8 335.0 | 0.0 0.0 |335.0] 30 T | >1048 | >1002 0 500 25
9 360.8 | 0.0 | 18.6 |342.2 0 E3 651 >1002 0 500 25
10 303.6 | 0.0 0.0 |303.6 0 E <5 <5 0 500 25
11 3028 | 0.0 | 434 | 2594 0 E | >1048 | >1002 0 500 25
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mmHg | 2 & Thomyv | ppmV %
1 263.0 | 0.0 0.0 |263.0 0 k3 8 <5 0 25 500
2 261.3 | 0.0 0.0 |261.3 0 E 14 150 0 25 500
3 #2625 | 0.0 0.0 |2625 0 T 7 80 0 25 500
4 t:j 262.6 | 0.0 0.0 |262.6 0 E <5 <5 0 25 500
5 2615 | 0.0 0.0 | 2615 0 E <5 <5 0 25 500
6 258.2 | 0.0 0.0 |258.2 0 E <5 <5 0 25 500
7 ?f 1384 | 00 | 0.0 1384 0 | & | <5 <5 0 25 | 500
8 |4 | 1540 | 00 | 0.0 |1540| O E <5 <5 0 25 500
9 |x4§ | 1396 | 00 | 0.0 |1396| O % <5 <5 0 25 500
10 ¥ 149.3 | 0.0 0.0 |149.3 0 Z <5 <5 0 25 500
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1 188.0 | 0.0 | 0.0 |188.0| 50 % <5 <5 0 25 500
2 2433 | 0.0 | 0.0 |2433| O % <5 <5 0 25 500
3 2420 | 0.0 | 0.0 |2420| O % <5 <5 0 25 500
4 2420 | 0.0 | 0.0 |2420| O % <5 <5 0 25 500
5 . 246.0 | 0.0 | 0.0 |246.0| O % <5 <5 0 25 500
6 % 2430 | 0.0 | 00 |2430] 0 % <5 <5 0 25 500
7 %% 2422 | 0.0 | 0.0 |2422| O % <5 <5 0 25 500
8 2425 | 0.0 | 0.0 |2425| O % <5 <5 0 25 500
9 2915 | 0.0 | 0.0 |2915]| O % <5 <5 0 25 500
10 3105 | 0.0 | 0.0 |3105| O % <5 <5 0 25 500
11 2525 | 0.0 | 0.0 |2525]| O % <5 <5 0 25 500
12 2948 | 0.0 | 0.0 |2948| O % <5 <5 0 25 500
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1 255.2 | 0.0 | 142 |2410| O % <5 <5 0 25 500
2 1495 | 0.0 | 0.0 |1495| O Z <5 <5 0 25 500
3 N 2150 | 0.0 | 0.0 |2150| O Z <5 <5 0 25 500
4 ¥a | 1415 | 00 | 0.0 [1415| O Z <5 <5 0 25 500
5 ié 1426 | 0.0 | 0.0 |1426| O Z <5 <5 0 25 500
6 249.2 | 0.0 | 11.0 |238.2| O % <5 <5 0 25 500
7 * — — — — — — — — 25 500
8 3100 | 0.0 | 0.0 |3100| O % <5 <5 0 25 500
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1 o 136.0 0.0 49 |131.1 0 E <5 <5 0 25 500
%
2 g:: 1348 | 0.0 | 0.0 [1348| © % <5 <5 0 25 | 500
3 ? 131.8 0.0 0.0 |131.8 0 E <5 <5 0 25 500
®
4 % 150.8 0.0 10.1 | 140.7 0 E <5 <5 0 25 500
5 224.0 0.0 | 32.0 |192.0 0 E <5 <5 0 25 500
6 224.6 0.0 | 31.0 |193.6 0 E <5 <5 0 25 500
7 /g | 208.0 | 0.0 | 14.0 |1940| O 3 <5 <5 0 25 500
8 ii] 226.2 0.0 | 32.2 |194.0 0 E <5 23 0 25 500
9 222.0 0.0 30.8 | 191.2 0 E <5 <5 0 25 500
10 207.0 0.0 10.5 | 196.5 0 E <5 <5 0 25 500
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